Phenotype Data Analysis Plots

PhenoData day range
Analysis cutoff day
NC11 P3-6

2025-05-14 (Day 46)

12 — 45
435




TrussNodeMaxPerStem (Def=6.0 Set=6)
1¥§126. “0%_avg2=na

rimlrLiss

e it

0 2 4 6 8 10

Object Number



FruitNumAvgPerTruss (Def=15 Set=5)

avgl1=5.0713% avg2=na

P3-6

- ——— 000 00— 09— 9 ——— 99

10 15
Object Number

20

25

FruitNumMaxPerTruss (Def=na Set=5)
avg1=5.070% avg2=na

TrimFryit
5+-0-0-0-00-—0 -0 -———0—-
410 ®
3
2 ]

1
0 -
0 é 1b 1% Zb 55

Object Number



LfA_avgAbsY (Def=na Set=0. 05)
avg1=0.05719% avg2=na

0. 06 ~
o
______ S _@og-——-——g——————@ -
0.04 - *
e e
™
o
0. 02 ~
0. 00 A
T T T T T
0 5 10 15 20 25 30
Object Number
NdL_avgAbsY (Def=na Set=6.8)
avg1=6.8718% avg2=na
8 ‘+ *L
[
4_ .
2_
O_
0 5 10 15 20 25 30

Object Number

LfA_Q90AbsY (Def=0.04 Set=0.05)
R8s 16:0PPfe 98 tavig2=na

.06 A [
[

_____ L _o-——---—g—————@--
.04 L

o
.02 A
. 00 A

T T T T T
0 5 10 15 20 25 30
Object Number
LfW_avgAbsY (Def=na Set=41.33)
avgl1=41.33716% avg2=na
50 A
40 +--—-- ..__..____.._. S NENEE—
o
30 @
20
10 -
0_
0 5 10 15 20 25 30

Object Number

NdL_Q90AbsY (Def=5 Set=6. 8)
avg1=6.8718% avg2=na

8 1 :T *: *
6'+ +
[ ]
4_
2_
0_
T T T T T
0 5 10 15 20 25 30
Object Number
NdD_Q90AbsY (Def=18 Set=15. 26)
avgl1=15.26"7% avg2=na
[
15__._____. _______ .———. _______
[
10
5_
0_
0 5 10 15 20 25 30

Object Number



LfW _Q90AbsY (Def=30 Set=41.33)
avg1=41.33716% avg2=na

50 - ®
a0 +--—-- o ‘_--! _______
30 19
20
10 -
0_
T T T T T
0 5 10 15 20 25 30
Object Number
LfL_avgAbsY (Def=na Set=36. 45)
avg1=36.45"10% avg2=na

40 A

------ *--o-5_-___@_ 0O ___

o

30{ ®
20
10 A
0_

0 5 10 15 20 25 30

Object Number

LfL_Q90AbsY (Def=40 Set=36. 45)
RE1B3PHenEBt ats2=na

40 e
_____ -9 - - . __0_O ____
[
304{®
20
10 +
0_
T T T T T
0 5 10 15 20 25 30

Object Number

NdV_avgAbsY (Def=na Set=13.25)
avg1=13.25730% avg2=na

- H4-

10 -
°
5 )
0_
0 5 10 15 20 25

Object Number

30

NdD_avgAbsY (Def=na Set=15. 26)
avg1=15.26"7% avg2=na

o
15 f=—======= om0 —-g——
o
10
5_
O_
T T T T T
0 5 10 15 20 25 30
Object Number
NdV_Q90AbsY (Def=12.72 Set=13.25)
avgl1=13.25730% avg2=na
SR
]----I----I-- ___l _______
10 A
o
5_
0_
0 5 10 15 20 25 30

Object Number



UF

UF

UF

P3-6-003-24 (fit failed)

20 - BOL [0.5, 8.72, 4.28, 0.99] ;//
15 Vgﬁ’//e/o
10 1 /
54 L&
0
e B -—-‘\:‘/3\:‘/':[-——
-1 T T T T T
0 10 20 30 40
P3-6-015-30 (fit failed)
BOL [0.77, 0.1, 46.14, 0.97]
20 ~
10_ /
- "‘/G )
0
N A A ‘—'\:;:LE“'
_1 T T T T T
0 10 20 30 40
P3-6-028-32 (fit failed)
201 BOL [0.5, 8.46, 4.4, 0.99] efp,/"
15 /
10 1 //
5_ — ;»/'/g
0
0=———————— j:\—_—,——j——-?———
_1 T T T T T
0 10 20 30 40

p3-6-007-N9N (fit failed)

BDL [0.55, 5.09, 7.49, 1.0
20 A [ : Ozz/
%
o
15 - /
&
10 i
541 /
0
o4Hr————r— -——— e\
_1 T T T T T T
0 10 20 30 40 50
P3-6-019-12 (fit failed)
20 4 BDL [0.57, 0.1, 20.6, 1.0] //
15 1
y -
10 > a8
5"
0
0 pF———————— m—../\:—/:———
_1 T T T T T
0 10 20 30 40
P3-6-033-9 (fit failed)
20 BDL [0.52, 8.95, 4.03, 1_0124343/&?£7//”
15 A
10 A =
I S —
0
0F—————————— m:—_—,—_—/:—‘———
_1 T T T T T
0 10 20 30 40

UF

UF

P3-6-011-7 (fit failed)

BDL [0.58, 0.1, 25.05, 1.0]

20 A
15 - /
10 A
5 _/
0
) — -~
-1+ T T T T
0 10 20 30 40
P3-6—024-25 (fit failed)
20 - BDL [0.56, 0.1, 24.83, 1.iidy)yx/‘j£7/‘”
15 ‘//Z‘ Z
10 1 /
o S
0
0t ————r——— T\
-1 T T T T
0 10 20 30 40
P3-6-038-21 (fit failed)
20 BDL [0.58, 0.1, 22.17, 1.0] .
15 /,z@ }
10 1 /
54
0
Y A — L -




P3-6-042-4 (fit failed)

20 ~

10

BDL [0.65, 0.1, 28.99, 0.99]

NdN



P3-6avg éjﬁt failed)

20 -

15 1

10 4

BDL [0.61, 0.1, 29.33, 0.99]




a (Def=0.56 Set=0.61)
avg1=0. 58 (fail) avg2=0. 61

Object Number

0.8 1
o
o
(Ul oo ooy enjenjesge e
N
o O
0.4 1
™
0.2 1
0.0+
T T T T T
0 2 4 6 8 10

12

dm (Def=2 Set=0.1)
avgl _glq1—8‘:§(fﬁllr'l“ avg2=0. 1

©)
@)

Object Number

de (Def=5 Set=29.33)
avgl1=18. 8 (fail) avg2=29.33

50

40 -

30

20 -

10

Object Number



InitDev_dm (Def=2 Set=0.5)

avg1=0.570% avg2=0.5

p3-—
2.0
1.5
1.0 1
0.5 -0 -0-0-9—9- -0 -0-6-5- o--
0.0 -

0 2 4 6 8 10 12

Object Number

InitD

InitDev_de (Def=5 Set=24.35)

avg1=24.35713% avg2=24.35

30 -

25

20 A

15 1

10

4 6

Object Number

12



UF

P3-6-003-24

Linear [0.35, 5.71, -16.25, 0.99]

15 A
10_ /
5 I
0
(0 o e S i \ﬁ:/—-———
_1 T T T T T

0 10 20 30 40

P3-6-015-30
Linear [0.52, 4.1, -7.82, 0.95]

20
. /

="
0
QpF——————ee e == 1 _____
-1 T T T T T

0 10 20 30 40

P3-6-028-32
15 - Linear [0.42, 4.0, -9.43, :;{/@Z/
" /
-

R
0
(0 o e S Rt o —_—/ﬁ=/—-———
-1 T T T T

0 10 20 30 40

p3LéMNo7-11

Linear [0.41, 6.14, -14.84, 0. 99]/

15 A
10 /
5 —
0
o4+r—-———_— j—:/—-———
_1 T T T T T
0 10 20 30 40
P3-6-019-12
Linear [0.41, 6.39, -15.58, 1.0] /
15 1 //*?4,2/3
10_ /
5 —
0
0 === ’\:7=/—-———
-1 T T T T T
0 10 20 30 40
P3-6-033-9
15 4 Linear [0.45, 4.31, -9.56, o;jzlaféazv"
10
5“@-///,
0
0_-____—___________<:f_\=___
-1 T T T T
0 10 20 30 40

UF

P3-6-011-7
Linear [0.5, 4.14, -8.32, 1.0]
15 A %/
10 4”//(/////2f/‘.
54
0
1) & DM DEDEGMD W—— 1 SN~ S

20 30
P3-6-024-25

Linear [0.46, 4.27, -9.24,

1.0]

T T
20 30

0 10 40
P3-6-038-21
Linear [0.44, 5.5 -12.49, 0.98] erﬁf//’
15 1 )dfka_e?
"] /
5 =
0




P3-6-042-4

90 - Linear [0.54, 3.97, -7.37, 0.97] /

LN



P.’i‘—g\?vg

15 4

10 4

Linear [0.42, 5.37, -12.83, 0.99] /




a (Def=0.42 Set=0.42)
avg1:0.4ggiﬁ% P&ﬁf:0'42~15%

0.5~

A ] —m -

0.4+

© 0.3 1

0.2 -

0.1 -

0.0 -

¢

_¢_

_¢__.

4

6 8 10
Object Number

12



LN

By Start Date By Plant/Organ Age

24 26 28 30 32 34 36 38 40 42 0 5 10 15 20 25 30 35 40



P3-6-003-24 p338t007-11 P3-6-011-7

100 A i
Linear [2.56, -0.65, 0.25, 1_013/ 100 Linear [2.54, 2.52. -0.99, 1.0] gg/ 100 4 Linear [3.12, -8.74, 2.8, 1.0] P
75 ' , /z/aﬁ
qefa@g 75 - _o®
| 7/‘ o~ &
50 / 50 - Z
25 1 / 25 - /
0 0 -
0 F————————— _=.———/—-¥/-\=7-‘ e L:,L 0pF————=—=== -.-.-———/;v—t———
_1 T T T T T T _1 T T T T T T _1 T T T T T T
0 10 20 30 40 50 0 10 20 30 40 50 0 10 20 30 40 50
P3-6-015-30 P3-6-019-12 P3-6-024-25
100 A
Linear [2.7, -6.56, 2.43, 1.0] / 100 ~ Linear [2.98, -9.78, 3.28, 1.0] 100 Linear [2.73, -0.61, 0.22, 1.0] /
7 g o~
h @ZZ,@/Q 75 o
" / 50 -
- /' 251
0 0
0 =S =\':\——_,~—P-T:> e 5 0F———————- —= — ==
_1 T T T T T T _1 T T T T T T _1 T T T T T T
0 10 20 30 40 50 0 10 20 30 40 50 0 10 20 30 40 50
P3-6-028-32 P3-6-033-9 P3-6-038-21
100 ~ Linear [2.75, -3.79, 1.38, 1.0] 2~ 100 Linear [3.0, -9.88, 3.29,

Linear [3.3, -5.51, 1.67, 1.0]
100 - /
75 A Jg@,(!e/g@ 75 +
'f

50 Z 4
25 - / 25 /
0 0 0




P3-6-042-4

100

75 A

50 A

25 H

Linear [3.24, -8.34, 2.58, 1.0] 3/@/

&

StH



P3-6

a (Def=3 Set=2.87)
avgl :B'QBJR 1 ‘Z?_l_fngZna

0 2 4 6 8 10

Object Number




StH

By Start Date By Plant/Organ Age
1.0 1.0
0.5 1 0.5-
= e o e AR
0. 5 1 -0. 5 A
-1.0 T T T T T -1.0 T T T T T T T T
20 25 30 35 40 0 5 10 15 20 25 30 35 40
1.0 1.0
0.5 - 0.5 -
0.0 e e
0. 5 1 -0. 5 A
-1.0 T T T T T -1.0 T T T T T T T T

20 25 30 35 40 0 5 10 15 20 25 30 35 40



P3-6-003-24 p318MN07-11 P3-6-011-7

4
Linear [0.16, -1.0, 6.24, 0.99] Linear [0.2, -1.3, 6.53, 0.99] Linear [0.18, -1.12, 6.31, 0.98]
/ ] / 37
2_
2 74
11 4
I e s ey BT et et i B s st BT 1 e B | ettt
T T T T T _1 T T T T T T _1 T T T T T
0 10 20 30 40 0 10 20 30 40 50 0 10 20 30 40
P3-6-015-30 P3-6-019-12 P3-6-024-25
4
Linear [0.16, -1.0, 6.24, 0.99] Linear [0.18, -1.17, 6.64, 0.99] Linear [0.18, -1.12, 6.31, 0.98]
/ 31 / 31 /
2 2

| SRR SRS A S ety I LU £t e s m===m=m= - T e A ) et
T T T T T _1 T T T T T _1 T T T T T
0 10 20 30 40 0 10 20 30 40 0 10 20 30 40
P3-6-028-32 P3-6-033-9 P3-6-038-21
Linear [0.18, ~1.12, 6.31, 0.98] Linear [0.16, ~1.0, 6.24, 0.99] Linear [0.2, ~1.3, 6.62, 1.0]
/ 3 / 4 /

UF

AR e | ettt st BT U | Sttt Sttt Bt R e I




UF

P3-6-042-4

Linear [0.2, -1.3, 6.62, 1.0] /

TsN



Py deve

Linear [0.18, -1.05, 5.87, 0.99]




™
[a 8

a (Def=0.14 Set=0.18)
= ~g9 = ~10°9
avgl 0.&§q§é aygﬁ 0.18 10%

0. 20 -

0.15 A

¢
--;---.+---. -.+-+-.+.-----+-

0.10

0.05

0. 00

0 2 4 6 8 10 12

Object Number



By Start Date

1.0

0.5 1

0.0+ S< S e

0.5

-1.0 +— : : : : : : :
25.0 27.5 30.0 325 350 37.5 40.0 42.5

1.0

25.0 21.5 30.0 32.5 35.0 37.5 40.0 42.5

TsN

By Plant/Organ Age

1.0

-0.5 A

-1.0

1.0

0.5

0.0 frmm = e

-0.5 A

-1.0




P3-6—-003-24T1 (fit failed)

30

31

32 33 34

P3-6-011-7T1

Linear [0.45, -4.35, 9.56, 0.99] /

1b Zb 3b
P3-6-015-30T2 (fit failed)

41

42 43 44 45

P3-6-003-24T% (fit failed)

41.5 45.0 42.5
P3-6-011-7T2

Linear [0.4, -7.04, 17.55, 0.99]

Zb 3b
P3-6-019-12T1

40

Linear [0.51, -7.41, 14.41, 0.99] /
4

P3-6-007-11T2 (fit failed)

37

38 39 40 41

P3-6-015-30T1

Linear [0.7, -9.2, 13.2, 1.0] /

V4

e o o o e e e e e = e

30
P3-6-019-12T2

Linear [0.56, -10.4, 18.55, 1.0]




2.5 A

2.014©

1.5

1.0 A

0.5 A

0.0

4 4 5

P3-6-024-25T1

Linear [0.45, -4.35, 9.56, 0.99] /

0 1 I0 2I0 3I0
P3-6-028-32T2 (fit failed)

T T T
41.0 41.5 42.0 42.5

P3-6-038-21T1 (fit failed)

p3-6L004-25T2

Linear [0.77, -15.67, 20.32, 1.0]

0 10

20 30 40

P3-6-033-9T1

Linear [0.46, -6.27, 13.63, 0.95]

0 10 20 30 40
P3-6—038-21T2 (fit failed)

@)

A
v

P3-6-028-32T1

10. 0 ~

7.5

5.0+

2.5 A

0.0

Linear [1.49, -25.14, 16.9, 0.98]

20
P3-6-033-9T2

Linear [0.84, -18.94, 22.62, 0.98]

T T
0 10 20 30

P3-6-042-4T1

40

Linear [0.46, -4.38, 9.48, 1.0] /

s/




P3-6-042-4T2

Linear [0.34, -4.68, 13.6, 0.96] /

FrN



P3-6

a (Def=0.45 Set=0. 46)
avgl =8.Q4‘r_6£3é°:'\fvg2:na

Object Number



By Start Date

0

%] —

QF=————————— o ——————————— | s ]
5

0 1 1 | | |

32 34 36 38 40 42

0

5

| |

R G e ey S I OSN——f—=
5
0 1 1 | | |

32 34 36 38 40 42

44

FrN

1.0
0.5 1 —
00— —————————— — T
-0.5 -
-1.0 . . . . . . . .
0 5 10 15 20 25 30 35 40
1.0
0.5 1
00 fF = e
-0.5 -
-1.0 . . . . . . . .
0 5 10 15 20 25 30 35 40

By Plant/Organ Age




P3-6-003-24T1Fr1 (fit failed)

.0175 A

. 0150 -

. 0125 -

.0100 -

. 0075 -

. 0050 -

. 0025 -

(0]

(]

0

. 0000

30

3I1 3I2 3I3
P3-6-003-24T2Fr5 (fit failed)

34

0. 004

0. 003 ~

0. 002 -

0.001 4@

0. 000

o

T
43.0

43I. 5 44I. 0 44I. 5
P3-6-007-11T2Fr1 (fit failed)

T
45.0

0.05

0.04

0.03

0.02

0.01 A

0]

o

0.00

36

38 40 42 44

. 0000

P3-6-003-24F1Mr5 (fit failed)

. 06

. 05 -

. 04 -

.03 4

.02

.01

@]

@
O

0]

.00

35I. 0 37I. 5 4OI. 0 42I. 5
P3-6-007-11T1Fr1 (fit failed)

45.0

. 05 -

. 04

.03 A

.02

.01 4

.00

o
v

O

QO

T
30

3I1 3I2 3I3
P3-6-007-11T2Fr5 (fit failed)

34

.0175 A

. 0130 A

. 0125 A

. 0100 -

. 0075 A

. 0050 A

. 0025 ~

0]

O

Q

41

42 43 44

45

P3-6-003-24T2Fr1 (fit failed)

0.010

0. 008 ~

0. 006

0. 004 ~

0.002

0. 000

O

0]

[ J

41

42 43 44
P3-6-007-11T1Fr5 (fit failed)

45

0. 20

.15 1

.10 1

. 05

.00

[

@ O

()
N7

30

3I5 4I0
P3-6-011-7T1Fr1 (fit failed)

45

.10 A

. 08 ~

. 06

. 04 1

.02 1

©

O

O

.00

30

31 32 33

34




P3-6—011-7T1Fr5 (fit failed)

O (@)
0. 30 - 0. 06 -
0. 25 - 0. 05 -
O
0. 20 1 0. 04 -
0.15 - o 0.03 - o
0. 10 1 0. 02
(] O
0. 05 - 0.01 -
O
Q@ O
0.00 Lp—2 | | —0.00 1= | | | |
30 35 40 45 36 38 40 42 44
P3-6-015-30T1Fr1 (fit failed) P3-6-015-30T1Fr5 (fit failed)
0. 30 1 o O
0. 25 - 0. 020
O
0. 20 A 0.015 A
0. 15 - ® o
0.010 -
0. 10 -
0.05 ® 0. 005 ®
. 5 .
o ° ® o ®
0.00 14 ' . — 0.000 . ' ' ' . .
30 35 40 45 32.5 350 37.5 40.0 42.5 45.0
P3-6-015-30T2Fr5 (fit failed) P3-6-019-12T1Fr1 (fit failed)
0. 008 - & 10-0175 1 ®
0. 0150 -
0. 006 - 0.0125 -
0.0100 oS
0. 004 -
0. 0075
O
0. 002 - 0. 0050 - &
0. 0025 -
® O
0. 000 1+ . . . — 0. 0000 - ' ' '

41

42 43 44

45

P3-6-011-7T2E¥1 (fit failed)

. 004 -

. 003 A

.002 4

. 001 4

. 000

.012 4

.010 4

. 008

. 006

.004 -

.002 4

.000

. 020 ~

. 015 ~

.010 4

. 005 4

30

32 34

36

. 000

P3-6-011-7T2Fr5 (fit failed)

a
L 4

O

43.0

43I. 5 44I. 0 44I. 5 4
P3-6-015-30T2Fr1 (fit failed)

5.0

O

O

&

41

42 43 44
P3-6-019-12T1Fr5 (fit failed)

45

O

[

O

41

42 43 44

45




P3-6-019-12T2Fr1 (fit failed)

. 014

.012 +

.010 ~

. 008 ~

. 006 -

. 004 -

. 002 -

o

(]

Q

. 000

41

42 43 a4
P3-6-024-25T1Fr5 (fit failed)

45

.14 4
.12 1
.10
. 08 -
. 06
. 04 1

.02 1

.00

£

® O

0]

T
30

3I5 4I0
P3-6-028-32T1Fr1 (fit failed)

45

. 0030 A

. 0025

. 0020 -

. 0015 -

.0010

. 0005 -

0]

O

[

0

. 0000

32

34 36

38

P3-6-019-12F5Mr5 (fit failed)

. 008

. 006 -

.004

. 002 ~

O

y
W

0]

.000 -—

41

42 43 a4
P3-6-024-25T2Fr1 (fit failed)

45

.014 4

.012 4

. 010 ~

. 008 -

. 006 -

. 004 -

. 002 1
@)

.000

@)

T
38

40 42 44
P3-6-028-32T1Fr5 (fit failed)

0. 05 A

0. 04 -

0. 03 A

0.02 A

0. 01 A

O

0.00

35.0 37.5 40.0 42.5 45.0

P3-6-024-25T1Fr1 (fit failed)

0. 20 -

0.15 A

0.10 A

0.05

()

o

® (©)

0.00

30

3I5 40 45
P3-6-024-25T2Fr5 (fit failed)

0.012 +

.010 ~

. 008 -

. 006 ~

. 004 ~

. 002 -

. 000

@)

&

@)

41

42 43 44
P3-6-028-32T2Fr1 (fit failed)

45

. 006 ~

. 005 -

. 004 ~

. 003 ~

. 002 -

. 001 ~

O

O

@)

. 000

41

42 43 44 45




P3-6-028-32T2Fr5 (fit failed)

. 005 ~

. 004 -

. 003 ~

.002 ~

.001 +©

4

.000 ——
43.

0 43I. 5 44I. 0 44I. 5
P3-6-033-9T2Fr1 (fit failed)

45.0

.012 +

. 010 A

. 008 ~

. 006 -

. 004 -

0

. 002 ~

.000 ——

@)

. 0000

41

42 43 44
P3-6-038-21T1Fr5 (fit failed)

45

0. 20 -

0.15 A

0.10

0.05

O

0.00 5

P3-6-033-9T1EY1 (fit failed)

. 006 ~

. 005 -

. 004 -

. 003 ~

.002 ~

. 001 -

O

O

O

. 000

32

33 34 35 36

P3-6-033-9T2Fr5 (fit failed)

. 0014 -
.0012 -
. 0010 -
. 0008 -
. 0006
. 0004

. 0002

O

0]

T
43.0

445  45.0
(fit failed)

43I. 5 44I. 0
P3-6-038-21T2Fr 1

. 150 -

. 125 ~

. 100 -

. 075 ~

. 050 ~

. 025 -

O

@]

. 000

35.0 37.5 40.0 42.5 45.0

P3-6—033-9T1Fr5 (fit failed)

0. 020

0. 015 A

0.010 +

0. 005 -

O

0. 000

@)
38 40 42 44
P3-6-038-21T1Fr1 (fit failed)

0. 20 -

0. 15 -

0.10 A

0. 05 -

0.00

@

O
T T

3I0 3I5 40 45
P3-6-038-21T2Fr5 (fit failed)

0.012 A

0.010 A

0. 008 -

0. 006 -

0.004 -

0.002

o
w

O

O

0. 000

41 42 43 44 45




P3-6—042-4T1Fr1 (fit failed)

0. 06 -

0.05

0. 04 -

0. 03 -

0.02

0. 01 -

0.00

)

Q

O

O

30

P3-6-042-4T2Fr5 (fit failed)

32

34

36

.012 +

.010 ~

. 008 ~

. 006 ~

. 004 -

. 002 -

)

)

O

. 000

41

42

43

44

45

. 000

P3-6-042-4T1EY5 (fit failed)

175 1
. 150 ~
. 125 ~
. 100 ~
. 075 -
. 050 -
. 025 -

[ah]

O

.00

30

40 45

P3-6-042-4T2Fr1 (fit failed)

.12

.10 A

. 08 -

. 06 -

.04

.02 -

O

35.0

37.5

40.0 42.5 45.0



P3-6-003-24L12 (fit failed)

0. 25 -

0. 20

0. 15 -

0.10

0. 05 -

0.00

©

L J

43.0

43I. 5 44I. 0 44I. 5
P3-6-007-11L10 (fit failed)

0.7+

O

© @)

O

30

3I5 4I0
P3-6-011-7L12 (fit failed)

45

1.25 4

1. 00

.15

.50

. 25 A

.00

O

O

41

42 43 44

45

UF

P3-6-003-24[% (fit failed)

P3-6-003-24L9 (fit failed)

— 3)
o 0.8 o
1.0 4 -
s~ o
BetaS [1.31, 4.5, 4.56, 22.42, 0.98] 0.6 1 -
0.5 - AWt
r 4 ’ O
S~ 0.4+
A o
0.0 =
0.2+
O il N R S e ——— p——
_1 T T T T T T 0 O T T T T T T
0 10 20 30 40 50 32.5 35.0 37.5 40.0 42.5 45.0
P3-6-007-11L13 (fit failed) P3-6-007-11L7 (fit failed)
@ i POy —
0.7 1.00 - T
AT
0.6 o 0.75 1 A \\
C)’
0.5 A ® 0. 50 4 BetaS [1.03, —12.0, 7.96, 22.53, 0.99]
0.4 S~
0. 25 A 7
0) /
0.3 1 S
0.00 —
0.249
L Jl 8 S I SN — — P
0.1- > 0 ~ ‘
0. O T T T T T _1 T T T T T T
36 38 40 42 44 0 10 20 30 40 50
P3-6-011-7L6 (fit failed) P3-6-011-7L9 (fit failed)
e o0 — 9)
00 1 = i 1.2 o
o(‘ O
757 re 1.0 o
BetaS [1.03, -15.0, 13.24, 14.38, 1.0] ®
.50 4 4 0. 8 A
J g ¢
+25 1 7~ 0.6
,» 4
.00 == 0.4 -
L e i =1 0.2
_1 T T T T T T 0 0 T T T T
0 10 20 30 40 50 30 35 40 45



P3-6-015-30L10 (fit failed)

- O
o

O

D

32.5 35.0 37.5 40.0 42.5 45.0

P3-6-019-12L10 (fit failed)

o) O O

T T T T T
32.5 35.0 37.5 40.0 42.5 45.0

P3-6-024-25L12 (fit failed)

O

©

O

41 42 43 44 45

P3-6-015-3biT13 (fit failed)

0. 35 -

0. 30 -

0. 25 -

0. 20

0.15 4

0.10

0.05

)

0.00

O

43.0

43.5 44.0 44.5 45.0

P3-6-019-12L13 (fit failed)

O

L

O

41

42 43 44 '
P3-6-024-25L6 (fit failed)

Y

ar’®

UF

UF

P3-6-015-30L6

0.8 1 ﬁf/v
C
0.6 7
BetaS [0.95, -15.0, 17.41, 13.35, 1.0]
0.4 1
0.2 1
0.0 —
o U SN S S VA ——
_1 T T T T T T
0 10 20 30 40 50
P3-6-019-12L7 (fit failed)
S
.00 - q”
-
G
.75 - S
BetaS [1.16, —9.46, 14.91, 12.27, 1.0]
.50 -
.25
.00
0— ——————————————— _\T/h[\___..
_1 T T T T T T
0 10 20 30 40 50
P3-6-024-25L9 (fit failed)
9) (@)
1.0 - e
O
@]
@
_ O
0.8 o
0.6
0.4 1
0.2 1
00 T T T T
30 35 40 45



© @ o @ o o ©°o ©

P3-6-028-32L10 (fit failed)

o
w

o

O

)
N7

30

3% 4b
P3-6-033-9L12 (fit failed)

45

O

L

43.0

43{5 44.0 44.5
P3-6-038-21L12 (fit failed)

45.0

)

(©]

@]

38

40 42 44

1

UF

UF

P3-6-028-3%13 (fit failed)

@)

0.8 -
O
0.645
0.4 -
0.2
00 T T T T T
41 42 43 44 45
P3-6—033-9L6 (fit failed)
e ooe—
.00 (l[(\o\f
.75 e L
BetaS [1.09, -15.0, 15.8, 13.46, 0.98]
50_ /
0' U
.25
.00 H—=—
0“““““——————J:;;P[\——‘
_1 T T T T T T
0 10 20 30 40 50
P3-6-038-21L6 (fit failed)
.00
PR
.75 e\?
'o'
.50 1
25_ ‘o'
_ BetaS [1.01, -15.0, 3.6, 35.14, 0.98]
.00
0_~____—____—______;/_H[__—
_1 T T T T T T
0 10 20 30 40 50

P3-6-028-32L7 (fit failed)

1.0 -

0.5~

BetaS [2.22, -12.0, 26.94, 36.0, 0.94]

e

10 20 30 40 50

P3-6-033-9L9 (fit failed)

® O

(©]

T T T T T
32.5 35.0 37.5 40.0 42.5 45.0

P3-6-038-21L9 (fit failed)

[@) O

o

O

O

0]

30 35 40 45



P3-6—042-4L12 (fit failed)

O

O

38

40

42

44

P3-6-042-h(6 (fit failed)

0.8~

0.6

0.4 -

0.2~

0.0

P3-6—042-4L9 (fit failed)

.8 140

O

[

@

30

35

40

45




Ymax (Def=1 Set=1.02)
avgl1=1.02"8% avg2=na

()]

2.0+

1.5+
© ¢
& o © NON
£ 1.0 - =

0.5+

0.0+

0 2 4 6 8 10
Object Number
de (Def=12 Set=18. 46)
avg1=18. 46°58% avg2=na
o 7 P +
30 -
(]
204 _ L _Jd______| ot e
0] ® [0)
10
0_
T T T T
0 2 4 6 8 10

Object Number

tb (Def=na Set=na)
avg1PIF-—B 1268% avg2=na

4 6 8
Object Number

10

dm (Def=12 Set=12)
avgl=17.41 avg2=na

20 -

0]

10

4 6 8
Object Number

10



By Start Date

32

34

36

38

40

42

30

32

34

36

38

40

42

44

LfA

1.

0.5

0.0 -

-0.5 A

-1

1.

0.5

0.0 -

-0.5 A

-1

0

0

0

0

By Plant/Organ Age
T T T T T
0 10 20 30 40 50 60
T T T T T
0 10 20 30 40 50 60



FI_dm (Def=5 Set=6.1)
avg1=6. 1710% avg2=6.07" 9%

lil. o Qe »
6= -"' ) *--'.'-.-'..-
o % e
w© 41
*
o
2_
0_
T T T
0 10 20 30
Object Number
FrV_de (Def=15 Set=15)
avgl=na avg2=na
1.0
0.8 A
0.6
0.4 4
0.2 4
00 T T T T
0.0 0.2 0.4 0.6 0.8 1.

Object Number

FI_de (Def=5 Set=6.1)
avg1=P3=60%Pleg2=6. 07" 9%

0 0 .
61~ -"' ® *---.'-.-'5-
o b ¢
4_
2_
0_
T T T
0 10 20 30
Object Number
FrN_a (Def=0.45 Set=0.73)
avgl1=0. 73724% avg2=1.02"31%
1.5 4 [
Py [
1.0 4 e o i’F ° .
- ———————=—- o ¢ % "
0.5 - o [
0.0+
0 10 20 30

Object Number

FrV_dm (Def=18 Set=18)
avgl=na avg2=na

1.0

0. 8 A

0.6

0.4+

0.2 4

00 T T T T

0.0 0.2 0.4 0.6 0.8 1.
Object Number
FSDdevStage (Def=0.01 Set=0.01)
avg1=0. 06"113% avg2=0. 07"59%
0. 25 A ®
0. 20 A
e © o ©° [
0.15 A
¢ [
0.10 A
:::g::.:::::::.'_:.'_:::::::Q:
00570 0% o @ e o ©
0. 00 A
0 10 20 30

Object Number

0



FGDdevStage (Def=0.7 Set=0.7)
avgl=na avg2-na

FMBDdevStage (Def=1.3 Set=1.3)
P+ Pheg2=na

T T
0.2 0.4 0.6 0.8
Object Number

FHDdevStage (Def=1.5 Set=1.5)
avgl=na avg2=na

FMEDdevStage (Def=1.8 Set=1.8)
avgl=na avg2-na

T T
0.2 0.4 0.6 0.8
Object Number

NNgen (Def=10 Set=7)
avgl1=7.0"7% avg2=7.3

T T
0.2 0.4 0.6 0.8
Object Number

- =—9=--0=c

T T
10 20 30
Object Number

T T
0.2 0.4 0.6 0.8
Object Number




age=15

. 0225

. 0200

.0175 A

. 0150 -

. 0125 -

. 0100

. 0075 A

avg

0. 045 ~

0. 040 ~

0. 035 ~

0. 030 A

0.025

LfA: avg vs. d at each age group
age=20
—4— avg
. 030 +
I
. 025 A
. 020 +
.015 4
30.0 32.5 35.0 37.5 40.0 42.5 45.0
d
age=35
—4— avg
. 050 -
. 045 A
. 040 +
. 035 A
. 030 +
30.0 32.5 35.0 37.5 40.0 42.5 45.0
d

age=25
. 0350 + v avg
. 0325 4
. 0300 +
. 0275 +
. 0250 +
. 0225 4
- 0200 - T T T T T
25 30 35 40 45
d
age=40
0. 055 S
—4— avg
0. 050 ~
0. 045 ~
0. 040 -
0. 035 -
36 38 40 42 44
d




LfA: model est vs obsOv@Q350

. 040 -

. 035

g50
est

solo

. 030

/

. 025

. 020

1

. 015

/

o O alb

.010

15

20

25

age

30

35

40




DeltaTypeAbbr=GrpByAge

P3-6 LfA: D 5d LfA
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

30 + —4— npcrDelta_avg —4—  pcrDelta_avg —4—  pcrDelta_avg
pcrDeltaAdj avg 30 - pcrDeltaAdj avg 30 - pcrDeltaAdj avg
20 +
20 20 -

10 - | \

l 10 I 101

0+ ]
0 At 1 RS 6 A
15 20 25 30 35 40 25 30 35 40 45 25 30 35 40 45
d d d



DeltaTypeAbbr=GrpByAge

P3-6 LfA: D _15d LfA
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

751 —4— pcrDelta avg —4—  pcrDelta_avg —4—  pcrDelta_avg
pcrDeltaAdj avg pcrDeltaAdj avg pcrDeltaAdj avg
50 + 60 60 -
25
40 A 40 -
e T e {
20 -
-25 A 20 -
~50 - 0 = mm -
0 e S
15 20 25 30 35 40 25 30 35 40 45 25 30 35 40 45
d d d




DeltaTypeAbbr=GrpByAge

—4—  pcrDelta_avg
pcrDeltaAdj avg

15

20 25 30 35 40

P3-6 LfA: D_Q50_LfA

DeltaTypeAbbr=GrpByDay

40 4 —#— pcrDelta_avg l
pcrDeltaAdj avg
30 A
20 A
10
0 fFmmmm e -

_10 -

25 30 35 40 45

d

DeltaTypeAbbr=WeiAvgByD

40 4 —b—  pcrDelta_avg
pcrDeltaAdj avg :
30 - /
20 +
10
1 e A SRS R
_10 -
25 30 35 40 45



P3-6 LfA: D_Est_LfA

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
30 | 25 —4— pcrDelta_avg 301 —4—  pcrDelta_avg
| pcrDeltaAdj_avg | o5 | pcrDeltaAdj avg
20 -
20 - 1
| / 20 1 /
1574 1 < &
____________________________ 15 14—
7 10
5 N 5 a
—4— pcrDelta_avg
DeltaAdj
w0 pcrDeltaAd]_avg 0 e O
15 20 25 30 35 40 25 30 35 40 45 25 30 35 40 45



.00
.15
.50 1
. 25 A
.00 ~
.75 A
.50 A
. 25 A

.00

LfA:

sfDem

—@— sfDem

15.0

17.5

20.0

22.5

27.5

30.0

32.5

35.0







14.

14.

13.

13.

12.

12.

11.

age=15
—4—  avg
10 +
9 1 /\
8 4
7 -
6 -
30.0 32.5 35.0 37.5 40.0 42.5 45.0
d
age=30
5 —4— avg
0 -
5 -
0 -
5 -
0 -
5 -
25 30 35 40 45

12.

11.

11.

10.

10.

15.

15.

14.

14.

13.

13.

NdD: avg vs. d at each age group
age=20
—4— avg
0 4
5 -
0 -
5 -
0 -
30.0 32.5 35.0 37.5 40.0 42.5 45.0
d
age=35
%] ——  avg
0 -
5 -
0 -
5 -
0 -
30.0 32.5 35.0 37.5 40.0 42.5 45.0
d

age=25
15 4 ——  ave
14 4
13 4
12 4
11 4
10_ T T T T T
25 30 35 40 45
d
age=40
av
14.2 - I £
14.0 19
13. 8 4
13.6 p
13.4 4
13.2 4
35 36 37 38 39 40
d



NdD: model est vs obsOv@Q50

14 - '
q50
12 i /
/ ®
) /
8 —
‘* |
4 i
15 20 25 30 35 40

age




DeltaTypeAbbr=GrpByAge

P3-6 NdD: D 5d NdD
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

10 - 127 —4—  pcrDelta_avg 121 —4—  pcrDelta_avg
| 10 4 pcrDeltaAdj avg 10 A pcrDeltaAdj avg
8 | =
8 I 8
6 5
6 6
47 4- | 1| 41 |
27 —4— pcrDelta_avg 2 2 1
DeltaAdj
0 pcrDeltaAdj avg | | ] 0 e 0 e
15 20 25 30 35 40 25 30 35 40 45 25 30 35 40 45




DeltaTypeAbbr=GrpByAge

P3-6 NdD: D_15d_NdD

DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

—b—  pcrDelta_avg 30 —b—  pcrDelta_avg 30 - —b—  pcrDelta_avg
30 1 pcrDeltaAdj avg pcrDeltaAdj avg ) pcrDeltaAdj avg
20 A 2 4 20 ~ 20 A 3
10 10 10 4
I o e e o R B I o e I e ey I o e I e ey
15 20 25 30 35 40 25 30 35 40 45 25 30 35 40 45
d d d




DeltaTypeAbbr=GrpByAge

—4—  pcrDelta_avg
10 pcrDeltaAdj avg
5 - 1 &
OF+Fm— S e 2
—5  J
1% 2b 55 3b 3% 4b

P3-6 NdD: D_Q50_NdD

DeltaTypeAbbr=GrpByDay

15 4

10

_10_

_15_

—b—  pcrDelta_avg
pcrDeltaAdj avg

40

45

DeltaTypeAbbr=WeiAvgByD

15 4

10 4

_10_

_15_

—b—  pcrDelta_avg
pcrDeltaAdj avg

25 30 35

40

45




DeltaTypeAbbr=GrpByAge

| —4—  pcrDelta_avg
125 - .\\\\\\\\\ pcrDeltaAdj_avg
100 | *
75 +
50
25
0 e D S S — S S~ — S S S — S S — S — S S — S — S — S — S — S S — S —
15 20 25 30 35 40

P3-6 NdD: D Est NdD
DeltaTypeAbbr=GrpByDay

100 -

80

60 -

40 -

20

——

pcrDelta_avg
pcrDeltaAdj avg

DeltaTypeAbbr=WeiAvgByD

100 -

80 -

60 -

40 -

20 A

pcrDelta_avg
pcrDeltaAdj avg




.00

.75 A
.50 A
. 25 A

.00

NdD:

sfDem

—@— sfDem

15.0

17.5

20.0

22.5

27.5

30.0

32.5

35.0



25 -
26 -
27 -
28 -
29 -
30 -
31 -
32 -
33 -
34 -
35 -
36 -
37 -
38 -
39 -
o J—
41 —
42 -
43 -
44 —
45 -

40

- 20



dStH:

avg vs.

d

avg

20

25

30

35

40

45




dStH: obsAvg vs obsO0v@Q50

3. 00 — ad0 |

est

2.75

[ avg |

:
s —
? +

2.50

2.25

2.00

it

1.75

1.50

20 25 30 40 45



dStH: D_b5d_StH

20 A

10

_10_

—4—  pcrDelta_avg

20 25 30

35

40

45




dStH: D_15d_StH

10 4

_10_

_20 .

——

pcrDelta_avg

20

25

30

35

40

45




dStH: D_Q50_StH

10

—

pcrDelta_avg

20

25

30

35 40

45



dStH: D_Est_StH

50 -

40 -

30 -

20 A

10 4

pcrDelta_avg




.00
.15
.50 1
. 25 A
.00 ~
.75 A
.50 A
. 25 A

.00

dStH:

sfDem

——

sfDem

10

15

20

25

30

35




40
20
-20

-40

1 1 1 1 |
o [ < © [ood o o
[Se) 5] ™ [Se) ™ < <

20 -
22 -
24 -
26 -
28 -
44 -



FrV: FrO1 vs Fr05 at each truss

organ|D=TO1
—}— FroOtlavg

35 4 FrO5avg
30 A
25
20 -

|

15 16 17 18 19 20

age




FrV trend at each age

age=15

—}—  FrOlavg
35 4 FrO5avg
30 -
25
20 -

|
TO1

organlD

age=20
FrOb5avg
36 —}— FroOtavg
34
32 A
30 -
28
TO1
organlD




FrV: model

Est vs obsFrV at Q90

45
— 450
FrO1_est
4017 @  Fro5 est
35 -
30 -
25 -
°®
®
20 -
15 16 17 18 19 20

age




FrV: obsFrV vs obsFrV@Q90

o
50 A
40 -
30 A
20 A
q50
10 A FrO1_avg
Fr05 avg
P _
15 16 17 18 19 20

age




FrV: D Fr1 FrV

organ|D=1
0.5 A —4— dlavg
dlaavg
[ I e o Lo R o e R
-0. 5 A b
-1.0 A
-1.5
15 16 17 18 19 20

age



P3-6 FrV: D_Fr1_FrV

20

50 -
40 -
60 -
80 -

-100 4 —4#— pcrDelta_avg
pcrDeltaAdj_avg

-120 -

38.0 38.5 39.0 39.5 40.0 40.5 41.0 41.5 42.0



1.0

0.8

0.6

0.4 A

0.2

0.0

FrV: D Ts FrV
organ| D=1

Warning: col [ d2avg’,

"d2aavg’' ] missing

0.0

0.2

0.4

0.6

0.8

1.




FrV: D_Q50_FrV

organ|D=1
0.3 A —4—  d3avg
—4—  d3aavg
0.2+
0.1+
D) = e e e e e e e e e e e e e e e e e = = o — — — ——— —————— e e T =
-0.1
15 16 17 18 19 20

age



P3-6 FrV: D_Q50_FrV

—4— pcrDelta_avg
20 A —}—  pcrDeltaAd]_avg
10 A
B o o e e B it ety Ettt
-10
4IO 4I1 4I2 4I3 4I4 4I5




FrV: D Est FrV

organ| D=1
|
—4— ddavg |
—4—  ddaavg
e ——
15 16 17 18 19 20

age



40.0 -

41.0 -

42.0 -

43.0 -

44.0 -

45.0 -

40

- 20



21.

23.

25.

217.

29.

31.

33.

35.

37.

39.

41.

43.

45.

40

- 20




